A STORY OF UNITS Lesson 29 Problem Set - - |

Name Date

Solve.

1. Lamar has 1,354.5 kilograms of potatoes to deliver equally to 18 stores. 12 of the stores are in the Bronx.
How many kilograms of potatoes will be delivered to stores in the Bronx?
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2. Valerie uses 12 fluid oz of detergent each week for her laundry. If there are 75 fluid oz of detergent in the
bottle, in how many weeks will she need to buy a new bottle of detergent? Explain how you know.
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EU REKA Lesson 29: Solve division word problems involving multi-digit division with group 394

MATH. size unknown and the number of groups unknown.
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A STORY OF UNITS Lesson 29 Problem Set 7.7 |

3. Thelarea of a rectangle is 56.96 m2. If the length is 16 m, what is'its perimeter?‘ | . .
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4. Acity block is 3 times as long as it is wide. If the distance around the block is 0.48 kilometers, what is the
area (i_%he block in square meters?
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